 ΜΑΘΗΜΑΤΙΚΑ Δ ΕΛΛΗΝΙΚΟΣ ΠΟΛΛΑΠΛΑΣΙΑΣΜΟΣ ( ΜΕ ΠΙΝΑΚΑ)
	Χ
	10
	8

	20
	20Χ10=200
	8Χ20=160

	5
	5Χ10=50
	8Χ5=40



	Χ
	40
	5

	30
	40x30=1200
	3x50=150

	2
	2x40=80
	2x5=10


Άρα 18Χ25=200+160+50+40=450                        Άρα   45Χ32=……1440………………………………

	Χ
	30
	7

	40
	40x30=1200
	7x40=280

	6
	6x30=180
	6x7=42



	Χ
	70
	5

	30
	70x30=2100
	5x30=150

	6
	6x70=420
	6x5=30


Άρα 37Χ46=1500+202=1702                                             Άρα 75Χ36=2700

	Χ
	50 
	9

	30
	50x30=1500
	9x30=270

	7
	7x50=350
	7x9=63



	Χ
	90
	4

	30
	30x90=2700
	4x30=120

	8
	8x90=720
	4x8=32


Άρα 59Χ37= 2000+183=2183                                                  Άρα 94Χ38=3000+572=3572

ΟΡΙΖΟΝΤΙΑ ( ΔΕΝ ΤΟΝ ΠΡΟΤΙΜΑΜΕ ΓΙΑ ΜΕΓΑΛΟΥΣ ΑΡΙΘΜΟΥΣ) 
14Χ15=(10Χ15)+(4Χ15)=150+60=210
10   
